5%t #lA

FEXAMIMNBRBETBEORDHLFE I,
54 (k) el

FEZBRORE - BRI bR IN
il

[ EpIE 1 ]
HOET, A, B. ClZHELOST. BCRERTT. ﬁ
OIFEDHLTT. “

0) @ OAFSRAETE DY oG & .
() By DAXERAETIH. v
()] 2

OA=DB 307, ZAT40AC (T :?rﬂ

) 0A=0C Fo2 = BT 0ACE

= A, =% =8%,
— =2/L° Tfa
BA=BB=36 507, p Be-@a=-Y
Bz =180—36x2 FFBo EEE LY,
=08 (%) 4t4=108
B o 1=10872
o3 = 54([%) b4 [
0
X
[AEIRE 2 ]
ROBVCER B, 720, MERE314ELFT,
(1) ERH8OAOPADES BEAmTIh.
(2) ®EHIen, hDAD 120 EDHS FHOADES FETNTT H.
@R _
MR etex 3 S emn (2)
"B < @ AFE S TETFMSAT /)
4 " Tfa 2 Qa2 1
{l, 360 I 21 e me e )
g x 3.4 =262 SLPSPRA YEL/1 55 1 RN I P
. \ ’
A2 (em) é_:é% = FE3. -
(20
o0 Ly rae
A4 ¢
= =l8x§§}x3d¢
= £ x 3.4
= l?\gll‘ CCM) 18|84'C»w\




